Authors’ comments: The manuscript has now been through revision by a native English speaker.
1. While reading the adapted version, I’m surprised that the response
rate for the Web based version was 41% (page 4), while in the actual
study only 17% (page 6). The authors should at least comment on the
difference.

Authors’ comments: We have now added to the text that we have no reasonable explanation for this difference. We have added on page 6: “The response rate in the web survey in the actual study was significantly lower than in the pilot study (17 % vs. 41 %). Since the 100 individuals used in the pilot were randomly selected as well as in the actual study we do not have any explanations for this difference.”



2. I’m confused by the section on page 5. ‘Fourthly, a binary logistic
regression …’. Did you use some type of regression analysis where the
‘proportion of item non-responses’ was the dependent variable? Then your
method obviously was not a binary logistic regression. Or did you use
some type of regression analysis where the ‘the occurrence of an item
non-response’ was the dependent variable and taking into account that
these non-responses are nested within respondents? Then I would expect
that you used some form of multi-level binary logistic regression.
Please explain.


Authors’ comments: It is a binary logistic regression using the occurrence of an item non-response and ‘don’t know’, respectively, as the dependent variables. This formulation is now adopted in the manuscript. A fixed effect regression was considered taking account of unobserved respondents’ characteristics but this would omit all the explanatory variables (even the primary mode variable of interest) because of no within-group variance. A random effects model is not appropriate since one would expect the unobserved part to be correlated to the explanatory variables which violate the model assumptions. 


3. On page 6, please rephrase
‘As seen in Table 3 the postal survey had a higher share of low income
respondents compared to the Web-based survey, a significantly higher
percentage of singles and a lower percentage of respondents with high
education.’
into
‘As seen in Table 3 the postal survey had a higher share of low income
respondents compared to the Web-based survey, a higher percentage of
respondents with low education and a significantly higher percentage of
singles.’
The suggested formulation discusses the variables in the same order as
in the Table and does not switch directions.
Authors’ comments: This formulation is adopted in the manuscript.


4. In the discussion your first three sentences mix ‘response rate’ and
‘coverage’ in a way that is very confusing. Please add the response
rates explicitly: 42% versus 17%.
Authors’ comments: The first two sentences are changed.  

